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QUESTION 1

In backup design, the required capacity for backup data (without deduplication) on site A is 3000GB and the required
capacity for backup data (without deduplication) on site B is 1500GB. It is required to replicate the backup date from site
B to site A, the deduplication ratio for replication is 3. The back-end capacity on site A should be no less than (Ignore
redundancy ratio):

A. 4500GB

B. 3500GB

C. 2500GB

D. 1500GB

Correct Answer: B

QUESTION 2

Which of the following is true regarding a primary reason why a business would buy an N8500 (V200R001) cluster
system for database services.

A. The business disk uses the SAS disk, RAID type configured as 11 disk RAID6
B. The pre-fetching rate of the service LUn is set to "not prefetch”
C. Slice depth of the business LUN, select "32K"

D. Map the LUN to the host group of the N800O instead of the host. The main LUN ID is configured by default, starting
from O

Correct Answer: BC

QUESTION 3

What are the recovery mode drills of the Huawei Replication Director disaster recovery? (Multiple choice.)
A. Planned Migration

B. Failover

C. Business Recovery

D. fault recovery

Correct Answer: AD

QUESTION 4
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A customer needs to create an OLAP backup database for batch importing online database data at night. The database
software is SQL Server 2008. The data file size is 20 TB. The storage system is OceanStor V3. The stable write
throughput is required to reach 1800 MB/s. Which configuration best meets customer requirements?

A. Use 2 TB NL-SAS disks and configure RAID 6 (8D+2P).

B. Use 2 TB NL-SAS disks and configure RAID 5 (8D+1P).

C. Use 600 GB 15k rpm SAS disks and configure RAID 5 (8D+1P).

D. Use 600 GB 15k rpm SAS disks and configure RAID 10.

Correct Answer: C

QUESTION 5

Which of the following is correct regarding the ext3 file system fault repair?

A. Use the mount command to view the file system mount status is read-only

B. mount the damaged file system, the direct implementation of fsck to repair

C. should not be arbitrary on the normal operation of the fsck file system

D. By collecting, var / log / message host log information to locate file system failure

Correct Answer: B

QUESTION 6

In the same operating system environment, what is the order to restore the oracle database through RMAN?
A. controlfile, datafile, pfile

B. pfile, datafile, controlfile

C. datafile, pfile, controlfile

D. pfile, controlfile, datafile

Correct Answer: A

Reference: https://docs.oracle.com/cd/E11882_01/backup.112/e10642/rcmadvre.htm#BRADV85339

QUESTION 7

With OceanStor V3 storage, which of the following businesses use smartTier features to improve storage system
performance and reduce user costs? (Multiple choice)

A. Data Warehouse
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B. online shopping
C. Data Mining
D. ERP

Correct Answer: BD

QUESTION 8

Due to business needs, when a reboot operation is performed on a VTL6900 (including the VTL engine, SIR engine,
storage unit, and optical switch) which description is correct? (Multiple choice)

A. Power off the VTL6900 as a whole without any special requirements

B. Restart the device according to the following restart sequence: VTL engine restarted SIR engine restart Fiber
Channel switch and storage unit restart

C. restart the device as follows to restart the device: SIR engine restart VTL engine restarted Fiber Channel switch and
storage unit restart

D. If the VTL engine is configured for A and B two-node clusters, suspend the VTL failover and then restart the VTL
engines A and B in turn After all the two nodes of A and B are normally started, restore the VTL failover

Correct Answer: BD

QUESTION 9

VMware\\'s storage resources can be provided through VMFS, native direct-attached storage via ESXi host-FC / FCOE
or iSCSI link of the shared storage. You can also share the file system over the NFS network to support third-party NAS
storage.

A. True

B. False

Correct Answer: A

QUESTION 10

Which of the following functions in VMware leverages content-based read cache (CBRC) of ESXi hosts as shown in the
figure to ease the pressure of partial storms in VDI?
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Digest File Hash key chunks (metadata)

RAM Buffers

M Fil
VMDK File (indexed by hash)

Per VM Disk Per Host Cache

A. Linked Clone

B. VSA

C. SE Sparse

D. User Data Management

Correct Answer: A

QUESTION 11

Which statement about SmartMigration functions is false during a SmartMigration-based migration?

A. If multiple LUNSs are used by a service, the LUNs must undergo a consistency splitting after the migration.

B. If multiple LUNSs are used by a service, consistency splitting cannot be performed before stopping services.

C. For higher migration speed and storage performance, a migration task can be deleted as soon as it is completed.
D. It is recommended to perform consistency splitting in off-peak hours.

Correct Answer: B

QUESTION 12

Client server resources are limited but there is sufficient network bandwidth. What kind of deduplication strategy should
be used if the client data needs to be backed up to the physical tape?

A. source-side deduplication (backup software)

B. target-side deduplication (backup software deleted)

C. Target-side de-duplication (backup software global deduction)
D. target-side deduplication (backup media deleted)

Correct Answer: D
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QUESTION 13

An Oracle client software is installed on the client host A, now there is a requirement to use it to access a remote
database on host B, which of the following files need to be modified on the host A or B? (Multiple Choice)

A. listener.ora

B. The "profile" of oracle user
C. tnsnames.ora

D. pfile parameter file

Correct Answer: AC

QUESTION 14

RAC is a typical "multi-instance, single-database" architecture that is shared by all nodes, accessed in parallel, including
database data files, control files, parameter files, online reorganization log files, and even archived log files are placed
on shared storage and guaranteed to be simultaneously accessible by all nodes

A. Correct

B. mistakes

Correct Answer: B

QUESTION 15

In a Huawei disaster recovery plan, in order to implement the one-click disaster recovery operation for Oracle
applications, you must configure the recovery in Replciation Director Plan. What configuration actions do you need to do
on the Replication Director side before configuring the recovery plan? (Multiple choice.)

A. Configure the protection group

B. Configure the protection strategy

C. Configure the site and register disaster recovery host

D. Find the LUNs used by Oracle and make policy protection for these LUNs

Correct Answer: ABC
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